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Section A, B and C are compulsory for all Regular and Private students. Please
follow the instructions, given in each section. Marks distribution for all students
are as shown in question paper. The blind candidates will be given 60 minutes
extra time.

wy ¥ : W% Section A : Ohjective Regular 15x1=15 / Private 15x1=15
1. Prefifes ¥ & www fraw war & ? Which one of the following is Huckel's ruls ?

(a) n + 2 (b) 2n + 2 fchn+2 (d) n+4
2. fm & v -a dfirs afx-deoiefae & -
(&) | (x) 2w defrr (7) ROn (=) Ziftraw w=mmw |
Which compound is non-benzencid :
(a) Phenol {b) Methyl bensene  (c) Styrene (d) Tropolium cation.
3 Wiy ¥ ngRe f wr € . The number of K-electrons in benzene is :
(a) 2 (b) 4 {¢c) 6 id) 8
4. TERE N oww ¥ Mmar W W k.
(37) wwiarel v () IvawdnR v (9) smafivs o= (%) wregery aw |
The reason for the solubility of alcohol in water :
(a) Covalent bond (b) Co-ordinate bond (c) Ionic bond (d) Hydrogen bond.
5. Aty s k-
() = @ (¥) wenfte g & (9) dreforw o @ (%) wdhwares ov & |
Phenol 18 acidic :
(a) due to resonance b} due to electromeric effect
(c) due to inductive effect {d) due to peroxide effect.
6. ¥T PeCly ¥ &g &t ¢ 237 § : Which of the following gives violet colour with PeCl, :
(a) CgH,OH (b) CH;OH (e} C,H,OH (d) CH,
7. T aa T s ¥
(37) Py et () Prer wats (u) sifivg gt sy (=) oftedt sitwdireoer s |
Transition elements shows :
(a) lower melting point (b) lower boiling point
(c) inert pair effect {d) variable oxidation state.
8. K, [Fe(CN)sl ¥ Fe # aifwftyrwr srvear & : The oxidation stats of Fe in K, [Fe (CN),] :
(a) +3 (bl +2 (¢l +6 (d) +4

9. Frw e ¥ +1 stwéreor srvar weffer s ar e k-
Which element shows +1 oxidation state in Zn group :
(a) Hg (b) Zn i) Cd (d) None of these.
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[UPAC Taff ¥ Ni (CO), 7 73 & -

(37 Tt B 0 (7) Zzrwatarge Pfedz (D

() Zzrevat=mes w0 (=) Zzrerivrge fAafds 1D

TPAC name of Ni (CO)y 15 :
a’ Tetracarbonvl nickslet (0 iby Tetracarbonyl rickilet (1)
¢! Tetracarbonyl mckil (0 (d) Tetracarbonyl nick:l (II).

T W e & gF FheineTr @ Iy 3wy wewdt §

(37) v I (7) i 3 (|) awam =0 (z) meq 3w
Heat evolved in complete oxidation of one mole of compound 1s called .

in; Enthalpy of Formation ib) Enthalpy of Neutralisation

1¢: Enthalpy of Transition 'd; Eathalpy of Combustion.

Ton @as ¥ dm W Prw gemitad § s Ry o swlRe k-

(37) Tam (%) R (8) T (%) 7= |

Hess's Law is based on which Law of Thermodynamics :

ia) First ib) Second (¢) Thard id) Zero.

TG 9wn F fd AS @37 ® . Por reversible process the value of AS is

ial 0 iby>2 ‘e <0 id) 20.

araTaedr 4T AG & §

(¥ aATETE (¥) woTETw (a) = (z) 7 & 9§ 78 |

At equilibrium AG is :

‘a) Positive tb) Negative ic) Zero id) None of these.

¥t faquq pH & e b

(31) aftafda (¥) fag (7) v I (%) w0 & wr§ T |

A buffer solution 1= one which keeps 1tz pH - .

fal Variable (b! Constant {c) Very high (d) None of these.
g ¥ : WY IWOY Section B : Short Answer Regular 5x4=20 / Private 5x5=25

Frefutar w swmmed

(31) ¥ ¥ iR (w) uoriifwer |

Explain the following -

ia) Nitration in Benzene {b) Aromaticity.

s OR
BHC =1 ¥ 7 za% T=ry 9 fafy oF o womed |
What 1z BHC ? Describe method of preparation and its uses.

= i 7 § 7 FImeey sfer wmeng |
What 1s Lucas Test ? Explain with example,

st OR
aftrdi wgEtE T fafiat faferg |
Write methods of preparation of Ethylene Glycul.
Fr=fafers = soed -

(%) Fe?* oy g ¥ Pe¥* amum wifrss vavdy §

(@) Zn?* Faw = Ry N mawr el or i |

Explain the following :

(a1 Fe® is more stable than Fe’*.

by Zn?" salts are colourless while Ni?” salts are coloured.
sem OR

fesare s a1 fafe fefang o
Write method of preparation of Fischer's Salt
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[Cu (NHy),| SO, &gt 9 sifacfraen sraet @i 39-wwaardy o fafg |

Writs oxidation number and co-ordination number of complex [Cu (NHy),| SO,
g OR

T $Eriefre a3 oy T |

Write note on Bomb Calorimster.

st frat & frad ofr oRY & Pl stere speow R

Derive an expression for the entropy of a mixture of ideal gases.
sgar OR

Fuymiar ¥ g o & smen Hig o Ivdfer TaE |
Explain Third Law of Thermodynamics and describe its application.

g ®w : fif Iwlw Section C : Long Answer Regular 5x<10=50 / Private 5x12=60

1.

s &'fﬁ el firdrar Al )
Discuss Kekule structure of Benzane.

@ OR

e targe F gfResifelg sfvesrer w R & oo |

Discuss Nucleophilic substitution in aryl halide in detail

ST ¥ iy TwWE ¥ FReTEd T et e owiteR O3 writeatas s B TRt & R |
Explain the acidic nature of Phenol. Compare its acidity with that of alcohol and carbocychic
acd.

Iy OR
Frefafr o dfe oy g -
{) fEmeye - Remersy on areoqror (@) el ETw
() owsvgfer ¥ sy e (%) wxfx g

(%) Bure-Hria sifofear

Write short notes on the following :

(a) Pmacol-Pinacolone Rearrangement (b) Structure of Glycerol

ic) Hydrogen Bonding in Alcohol (d) Gattermann Synthesis

e} Reimer-Tiemann Reaction.

wwwer ey wa ¥ 7 g dwww aer Wi wey ¥ 7 vk it o aned

What are Transition Elements ? Why are they called transition element ? Explain their properties.
sgw OR

Ariamew iyt v @ 7 i e ot ¥ el o v e e oger & 7 awned |

What is Lanthanide Contraction ? What is the effect of lanthanide contraction on elements of

third transition series ? Explain.

STy 8 ST v wawd ¥ 7 30-gwddrs AR ¥ ané ot and Rt evmemaar = Iz st Al

wife |

What do you mean by Isomerism ? Describe isomerism found in co-ordination compounds with
example.
sear OR

fRrr e #1 ¥ Praw 7@ IEF st € fdew difdng |
Write Hess's Law of Heat Summation and describe its applications.

fivey - YeTevegE W ey W ar 37O AR |
Derive Gibbs-Helmholtz equation and write its applications.
g OR

w frea & ¥ 7 e el semeoer 2wt sred |
What is Buffer Solution ? Discuss ita mechanism with example

20000 150/60/75/50

http://www.davvonline.com

WO IUI[UOAARP MMM // ANy



